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1. “deraa” <l sped ferereh gru fordt s off ?

Forsoy ymf
The tales of “The Panchatantra™ was written by :
Vishnu Sharma
2. Tt §g 3 URAT H 3T YT 39 W femm e |
T <5k~ e g1
In _, Gautam Buddha delivered his first sermon at Sarnath.

Dhamma-chakra-pravartana Mudra

3. fr=ferRea 3 & fore smae o quar ia giew & 2
TSI

Which of the following ruler’s court poet was Harishena ?
Samudragupta

4. “SIfEn” A T 9T geTet SrEeh T A ffe |
I

Write the name of Mughal ruler who reimposed “Jaziya”.
Aurangzeb

5. fAeforRaa o & o 3BT gro & o e werdt WAl AT B weh W S | ?

RG]
Which of the following is considered as one of the most important contribution that was
introduced by British ?

Railways
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6. TmafaRgadawmar1857 s fagesrufomaear 7
S ST st <Ry wiivwet ) oo sara & weaiaiia o fea |

Which among the following was the consequence of the 1857 revolt ?
Transferred the powers of the East India Company to the British Crown.

7. 1930 ¥ wgren e grr “afer R e Sicier” TE A i B Ul ;
forfeer yrrem it guEEt Wi g w & g rawE gelt s arer U ue 3 areaw o
AT hil AT |

The reason of launching the “Civil Disobedience Movement” by Mahatma Gandhi in
1930 was :
Asking the Viceroy through a letter containing Eleven Points Programme to
remove the evils of the British rule.

8. Tr=fafea & @ =+ wem wra 1 ugen SR TR -Se o7 7
Y. TemTeTE

Which of the following was free India’s first Indian Governor-General ?
C. Rajagopalachari

9, Tr=fefaa o @ fora st gro smi iy @ srert fpam o 7

Y |eehR Irftfeem, 1935

Burma was separated from India by which of the following Act ?
Government of India Act, 1935

10. Ra S fifear fearor & wes vt 3 fore, Wi Tl @91 (INA) w1 1o+ fepet foparn 2
[Ty <5 919
Who raised the Indian National Army (INA), to free India from British control ?
Subhas Chandra Bose

11. Tr=feriea d & s geeft 1 ga@ a1 i wedy o fFem R ¢
HfeEE 9TR

Which of the following is the Earth’s largest inland body of water ?
Caspian Sea
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12, G a9l ST gfg & S & i g fedt aeh wmar sl et 2 | 38 e w5
&1 I @ |
WEHIE (HeT)

The normal rainfall increases suddenly and continues constantly for several days is known as
the of the monsoon.
Burst

13. Sl (GMT) w1 ®q a2 ?
e o ergm

What is the full form of GMT ?
Greenwich Mean Time

14, 9fd 1,000 STt W Sfifea STt <ht anfifes s =) forg T @ ST SITAT £ 2
e (i) S=1 et

By what name is the annual number of live births per 1,000 people called ?
Crude birth rate

15. 9RiH < Siret wid & fefafga 4 @ frg s g oo s € 2
e e

Teak forests are found in which of the following states of India ?
Madhya Pradesh

16. ST TN o6 Sifem ureme 9 |
#fi wice Rig srgem@iern
was the last deputy chairman of the Planning Commission.
Shri Montek Singh Ahluwalia

17. fr=ferRaa o @ i a1 & yra =1 ged 92 PR R 7

rfs &
Which of the following sector is the largest employer of India ?
Primary secfor
02 4 ' N masTEr
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18.

Treferiaa & fore T oh g hifcd oh o1 Wil T 3T Toret o & 3 <A1 T o ?
EEIC]

Which among the following states was chosen as the Initiation site in India for Green
Revolution ?
Punjab

19.

1969 % foraft w@ forsft et st Tfiersnor foram = o 7
14

How many leading private banks were nationalised in 1969 ?
14

20.

1991 % iR gaRi harg I fordiy & & wrelsifies & 3 forg amfa 9 |
T[Sl SeaTeH

Industries were reserved exclusively for the public sector after the economic
reforms of 1991.

Atomic energy generation

21.

frfoiea o & 35 w1 S8 “ SicuseEdeh! % f&dl % g & i g 7
TG 29

Which among the following Aurticles is for “Protection of Intetests of Minorities” ?
Article 29

22.

42 e % Hrem A wieum o i g T DPSP (T it 3 s fgia) e 2
i IR 3 Fyeen faftres wem |

Through the 42" amendment, which of the new DPSP (Directive Principles of State Policy)
was added to the Constitution ?

Equal justice and free legal aid.

23.

freferRad & @ o5 @ wifers wdea & 7
3 avft

Which among the following are Fundamental Duties ?
All of these
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24.

IFERE 245 o ITEN T T HH B |

DI ST
As per Article 245 is the function of Parliament.
Law — making

23.

grepiET 3 Frefafaa o @ frad gefa @ 7
g I T gEy

The Sarkaria Commission is related to which of the following ?
Centre & State Relations

26.

PEARIICL HITHATR |
areh gl

Light year is a measurement of
Stellar distances

27.

oefl e o EHE A R
LEEEE

The element common to all acids is
Hydrogen

28.

AT @HT YR o wdA AAfaead g |
G

Non-stick cooking utensils are coated with
Teflon

29,

ﬁmﬁrﬁaaﬁ%aﬁamﬁgﬁ;mwrﬂ% ?
Sifetnd

Which of the following is the most intelligent mammal ?
Dolphins
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30. il e ferehr foped wfem @lar @ 2
SERTRT <hi T[UrERIT, WET T It

Plant development is influenced by
quality, quantity and duration of light

31. fewm i 22 1L o8 el g G ?

971317
: . 4511 13 ) .
Out of given fractions 2713 17 which one is largest ?
11
13

2.1+ (5.8)° B
(2.1)2-21x58+(5.8?%
7.9

32.

33. e vt §, 70% arweff siifoeht # 3efif gu stk 80% arwrefl qebon # il g | afe 39 A1 R
7 55% arvaeff sfiof gu, o <t fort # fepaa wierera arareff arefivl g ?

In an exam, 70% candidates passed in physics and 80% candidates passed in reasoning. If
55% candidates passed in both these subjects, what percent of candidates failed in both

subjects ?
5%

34. 308, 125, 45, 120 31 102 %1 3itad 2

The average of 308, 125, 45, 120 and 102 is
140

35. 9-445=
4522

36. ‘w@eq’ o1 9y forese w g ?
g + 3o

37, “sfa- " wrad aef Ve R
aarfyy - fere

MASTER 7 j 02
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38, Sy # fervaTd TEA AT’ - 36 Yeg g % fo1u Ueh vieg warsd |
Afers

39. ‘wyre ol foei wed B
S

40, ‘forceft i gt & o v =i’ 6 aef _-
9 1 XA I A & B ST 1R |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Valentine’s Day, February 14, is a holiday that celebrates love and friendship in the United States.
Most people think of it as a romantic day to show the one you love how much you care by purchasing cards
and gifts. Valentine’s Day is also an extremely commercial holiday. People spend money on flowers,
balloons, chocolates, stuffed animals and jewellery. People also go out for expensive dinners. Valentine’s
Day is even celebrated by school children, who give thank-you cards to their teachers. Some high schools
have Valentine’s Day dances. Classmates give each other little cards. These cards can be purchased at any
store with famous cartoon characters. It is considered much more thoughtful to have kids make handmade
cards to give to friends and teachers.

Valentine’s Day is also a great day to announce your love to someone like a secret crush.
Some people even get married on Valentine’s Day. However, you don’t have to be in love to share
in the festivities. You can say “Happy Valentine’s Day” to friends and co-workers. Valentine’s Day
is not an official holiday though in the U.S., meaning government offices and schools are open as
usual. The date used to be the celebration of a Saint named Valentine who allegedly saved a young
girl’s life. It wasn’t until the Middle Ages that romance somehow got mixed in with the date and
lovers would send each other handwritten love notes. Back then you couldn’t just go to the store
and buy a card the way you can now.

41. According to the passage, is Valentine’s Day officially a holiday ?
No :

42. According to the passage, what do school children gift their teachers ?
Thank-you cards

43. Choose the correct synonym of : “tame”
Docile

44. Choose the correct antonym of : “rapid”
Tardy
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45.

Give one word substitute for the following :
“one who is indifferent to pleasure or pain”
Stoic

46.

S BT ol U T fob Frferiea o @ @i o1 3ot foremed 39 <1 el & i ey @
TEl & 4 quifan @ |
Y ;
L cluerd fmior safet 3 g € 8§ dueidt ot Huat Fafg Hi e |
. GThR A & 8 H o9eidl W Yeh sgr § |
Y 11 HROT § 3T HY [ §ohT I R |

Read both the statements and decide which of the following answer choice correctly depicts
the relationship between these two statements.
Statements:
L. The Laptop manufacturing companies have recently increased the prices of Laptops.
II.  The Government recently increased the duty on Laptops.

Statement II is the cause and statement I is its effect.

47.

Teh AR <h 3T $9T hid §Y A 3 3197 €15 B @ e, “og 30 af o frar i seveitd 9 27 |
A, BRI STt o4 fes  fope T Taiftia & 7
el

Pointing to a photograph A said to his friend B, “She is the only daughter of the father of my
mother.” How is A related to the person of photograph ?

Son

48.

frferiad wea o fow Tu ferereal § @ o o1 =5 BT |

In the following question, select the odd one out from the given alternatives.
301

49.

1 Set, 2006 ot T o7 | 1 S, 2010 <) THTE &1 i |1 f& o1 ?

Whar
It was Sunday on Jan. 1, 2006. What was the day of the week on Jan. 1,2010 ?
Friday

MASTER 9 02
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50.

fe ot ffeaa o i ACTIVE % EDUIWA o &9 1 shifea o siman 2, a1 36 shie § EFFECT
%l e hifed fomen smom ¢

If in certain language ACTIVE is coded as EDUJWA, how is EFFECT coded in that code ?
TGGFDE

51. WA RS e & i ST 2022 T T afdhe % R % w0 1 wia it % sfte &l o
Terament @ fopam R |
Aarer
Bharat Gaurav tourist train was flagged off between India and , as part of Ramayana
Circuit in June 2022.
Nepal
52. WA A QHT o & e ‘O 3 e’ wrEerd % Fmfo ¥ g aw © s % 9w
FreferRea @ & form S ot 75 el 3TN 17 Thet o SugR A & 7
AT
India gifted 75 ambulances and 17 school buses to which among the following countries as
part of its ongoing efforts to build on the “robust and longstanding” partnership between the
two countries ?
Nepal
53. 9@ 2022, v A freferfiaa § @ forw 3 % gr ‘sivaey fewiifs Grer stum’ 6t s
&l ?
3.
In June, 2022, India announced the ‘Commonwealth Diplomatic Academy Programme’ with
which among the following countries ?
UK
54, ! 3 [AF % Reflepieet & fer ADS Y 3mqfd ¥q weh s} ot ik 3uh! war®
ST o T1T Teh TSIl {9 T SEdTar Ty |
R s fifRe
Company signed an MOU with a Belarusian Company and its subsidiary for the
supply of ADS for helicopters of the IAF.
Bharat Electronics Limited
02 10 MASTER
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55. Trferfiaa o & fopa vl s = AT bl o’ T & w48 Ao yE A R 7
femrere e
Which among the following Indian state has launched a new scheme named ‘Naari Ko
Naman’ ?
Himachal Pradesh
56.  Terferite o @ o T TR Y 5,000 TR i ‘wreft A’ afte) Ao s 7
Hleh
Which of the following State Government launched * 5,000 ‘Kashi Yatra’ subsidy scheme ?
Karnataka
57.  wereR g W A fraforlfed § & fra et <8, dquite wied @i # s wrima i 1,800
IS T <l A1 o1 Igemed 3k Rrerm=r fpm ?
AR
PM Narendra Modi inaugurated and laid the foundation stone of initiatives worth * 1,800
crores at an event at Dr. Sampurnanand Sports Stadium in which among the following districts
o
Varanasi
58. form e A ‘sfeamer qfti i Ug il gt sives & e ford s <t 2
fifer s
Which institution released a report titled ‘India’s Booming Gig and Platform Economy’ ?
NITI Aayog
59. Feiia § & 1 € T wen River O, wedue w3 R T T sy s
B IS ST T & 7
ERI T
Which of the following state government is planning to build an education township on the
idea of ‘Single Entry, Multiple Exit’ ?
Uttar Pradesh
60. BT ariRfefoeht % fore weh o fefee wewit Sow vt frg 3% g et R man g 7
T 4. 31d. W o1s.
A new digital platform ‘Campus Power’ for student ecosystem has been launched by which
bank ?
MASTER 11 02
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ICICI Bank

61.

I o Tohe TS SeATeeT <6 |Tey ST |en o & 7

How many states of India share border with Bangladesh ?
5

62.

Frforiga 1 @ uicls it g R 7
wolidl

What among the following is the national currency of Poland ?
Zloty

63.

Freferfiea o @ ¥ a1 v o1 qod Sier Ty i yeu @ ?
G

Which among the following is the smallest Union Territory of India ?
Lakshadweep

64.

Freferitaa & @ ferass ura o @ @ Bl W@ s Hr ke ? 2
R o Tgfa

Who among the following has the power to prorogue the Lok Sabha sessions ?
President of India

65.

“ sttt afer Reg” frefifaa 3 & fea e s smar 2 2
2 FR

“International day of Non-Violence” is observed on which among the following day ?
2 October

66.

02
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T~ T 351 WY (@t 2T ) T 3 i i @ R e o R 2 7
HifE ()

Tomb (the burial place) of Vasco-da-Gama is situated in which among the following place of
India ?
Kochi (Kerala)
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67. ____ ICYI oh1 U S ITE e R |
HeUH

is a popular classical dance of Uttar Pradesh.
Kathak

68. “uimy wy” ffoiiga © ¥ fore wet @ wefa @ 2
Aefiien

“Thomas Cup” is related to which among the following games ?
Badminton

69. NT¥g T&eh ‘T 3Tk WreR fohaeh ammeashan & 7
2. ¢ 0. 3. 7ege et

The famous book —Wings of Fire’ is an autobiography of
Dr. A. P. J. Abdul Kalam

70. TS STt T s g R
DR

Expected result of Global warming is :
All of these

Freferfea g8 =i vgw 1@ R wwl (7. 719 75) % I AR |

Hrorehel g Tl Tagahi i foelt wepfa it shar st ai weiffers e R € | 59%
fore =% wran-fira w1 st T S R o 3t dar Rkl 1 ve s, wEt ) gw-a hi et aw
X I IS H IFHT A el & | g9 e Tert st 7 R | e F ey R, et R, et R, wawor R,
WETER B, -1 ® 3t fodunt # so@ welen foudia wnffa arg & | af-am % arees et v Srom 3
FE-FET T fereu # Ugn - 9 WA 8 | Y& W Af-ar, w-areee gt e ma ¥ W e
o w= ol ol gt ST ot it qumfi wvrar # gad w-ww S @ R fR-ofR 3 iR, -
GrEfRR, I At o 3 A~ ot e o € | vee o o wh-3) IR 3ues a1g e et
eI 9T o AT o6 B e @ | SR fereet i & S} 8 S ol hen € o 7 R i siset STeI
& AT | 9 I T b ST g ot T R 3R fedw o At afysras & werfia 3o Ot
& | TG 37k TR A o hig et T @ | fifEt % siauer % we o e T W@ 9 S

MASTER 13 02
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AT ~aT4 Q=< A e T 3 UI SIThT Foh G A19H WIeFl 311 A & i 3% TS G @y i
TR SET el e | et oht Rreprera B R wi-aa SRt weht ik sl % Ty veshw T S 3l
A GO ST b =TT Bt 7T o =TEd § | 36 Yo o SHeEn @ A TR T @ e ? 3
G ¥ ST aTel e 3T gfeararait ot =il & wi - foreft & 7 o | 3h gro for e fioter g
EETE % SUh WY Tg a1l A g1 o ) i s bt srehol 8 Shera arait b ReriiT  arrengl dreradt
b |1 Th—Teh b QM1 3iad: 36 g 3 Frer &l s § |

71. 3Tl Ye- e Tagess feew @i s @ ¢ waifores goet a6 SR @T e ?
Wi~ <1 {1 G, G- hl Birerht s et qem w3 shst aegn % e s
gl

72.  focw S SR s % R ufted % R S Qi R ¢ JrgeRe @ e i e e weiie e
e = gh |
AR TEHR

73. Torewr ® < 9@ w= % Ai-_09 ST gAY WA ST AT S8 3 gfeamaii 6 ==t foreh &} =i
w7

ST gETE & W= % o |

74. =i Y Rrebrer @ o wi-amq woft ofit al % wre veee TE H0 3t I g sar o6 <l
<l FET AN =T § | Foh A e A Qe @ 7
) fifet b 3w |

75. ‘39 YT o SAER A A gHR A1 B T I 2 gt VY M A sqewi hi 31 G & R
HAT 378 3799 |1 T @ et 7
wl & TET % HeE (Toft 3R I w=l) ¥ -He, WH-IH, TeTR 3 Sre-ae
TR AT SN Her @ et |

frefefea 78] ! vgwt @ W vt (3. 76 @ 80) F Iw R |

3T TRET <h Terere i o1 a1 @ | aRem e ik 81 S s @ # | ve-ford aier § wh o
& o= SR & | -1 S It el 9 wrg-w & i bt sres) fven feran # st gem
% WY TG HW & | GO G0 1 “TIer 94 quitr, S ATV TS AT BT 3 Seel ol 2 |
T <1 foreT <h aTeisgg 311t <61 78 Wit 3 w= arereeisiien € o @ € | 3 Rie g 3 g ot

02 : 14 MASTER

4 n — i 3
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%8 o, B3 Hi-s1q 71 i3 Reder $o ) g <, @ 3 gia wfifkamie & v € | vevreferdr wamw g
1 Tl @ SRS A 9T, ddT e <l ST 3 =Y | 3T, A~k TehRY sred v - forerent Hienll ar
ST & AT 3T ST ETe o & | wrer-forar ofR-ofR @ €10 S & | 36 g s % @R § e 36
I ek o T IR et 3 % 319 st gRy ert feu oiTd & | 31w wi-wTy 9 31t e & 3R
el TS | 3T % g A —wrq Rl it % §¢ wi-r i gorn i siteh e A g s R # | 54
% g T -t s 3 S1a e 1 Tewr W B i T R € | 98w e R g
at \i-=Tq 37kt Tea & 3 A1 31 & e H G- A Srent =t kT g arehd § | difedi o Siau
Sttt it & sl B Seerd 81 @R | st ureET § oft A g ui-wrd s s a1 3o TRaT 6 fow
T B HEE S0 8, TN ITeh! TATE 1 TR Tl BIaT | I8 THea: Fifeai 3 siate w1 aRom 2 | 31w
wee T R 3T IEqUl Helrs o 39 78 i ot Jarerehar gl € | 10 <l St & o afe 3w
TET @ Tl USSR ohieh Tel, 3T GgTyH 8 gH-30 @nil & g aug foemd | gg off 99 @ @ a3
off Sl TR AJTA A S | T I A 39 Heoh e g fid A QM R gw A g wr ofi 7 2

76. 31Tl % T o foTC gerd wa <ht i &Y watf A 8 Rre@ 3 <=9 @ 3191 ggTan oie e 7

Tl genl & fore o il e vd 3t e gt % wewil w7 aigr o 3T I T
a1 |

77. I Y AI-T9 39 & T H GH-EF | SRt T3 1 e T8 arhd & 7
I T~ e STl ST oh 1Y ST 3T <hi SEe S § I Sg-Siel I 7 TR i 3feret
AT |

78. AT~ G WN-gEIR U |WEd §aTeA] o T ST o arasig 3T gan fidt @ 9 snediEa
e &, S O et e ferem off | seee el sfi wRoT o El wehaT R 7
it % o & o Sited qedl & agen & ga1 At arqreait 3l srageriier g < @
R 3t Sueh! wgrsfierar %0 At ST @ R |

79. A Y = IO AT S JEPH A NS G h A F @ 7
W R FERE AR Irfedehl § 3R W araw Wiy e @ |

MASTER : "
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80. T o 1Y & hl §90T B g s Wif-aTq F 1ol X T HRU AT G R ? G T G
AR ?
W19 %1 G 3R I6% TRar 3 i w1 swEeR, af s s o ag-aet h e
# TeT G |

Y. H. 81885

¥ 2011 @ 2015 2 B it fredt & sl when  3ufdr, 3ot ofi =afia sefiear) 6 gen ¥ site
arferen! 1 Sfcaftaa § | Frer anforent = srerm w6t oit g w snuia v 3 39 E |

Q. Nos. 81 to 85 :

Data for Number of candidates appeared, qualified and selected in competitive examination from
five districts over the years 2011 to 2015 is mentioned in table, Study the following table and answer
the questions based on it.

=)

7 A / District A| R0 B / District B | R 7 C / District C

=/ | Jafem Il | e sufm it | wafm | sofn] s | wafe
Year| /App| /Quall /Sel| /App | /Quall /Sel | /App|/Quall /Sel
2011 8000| 850 | 94 | 7800 810 | 82 | 7500| 720 | 78
2012| 4800 500 | 48 | 7500| 800 | 65 | 5600| 620 | 85
2013( 7500| 640 | 82 | 7400| 560 | 70 | 4800| 400 | 48
2014| 9500| 850 | 90 | 8800 920 | 86 | 7000| 650 | 70
2015( 9000| 800 | 70 | 7200| 850 | 75| 8500| 950 | 80
R D / District D| R E /District E
VT Y[R TSN gy p—".
Year| fApp| /Quall /Sel| /App|/Quall /Sel
2011| 8200| 680 | 85 | 6400| 700 | 75
2012| 6800 600 | 70 | 7100| 650 | 75
2013( 6500| 525 | 65 | 5200| 350 | 55
2014| 7800( 720 | 84 | 6400| 540 | 60
2015| 5700| 485 | 60 | 4500| 600 | 75

81. fohw RSt & fore forma et & s swlieamdl Y sfwa wem =gan 2 7

IEKI§0
For which district, the average number of candidates selected over the years is the minimum ?
District E
02 16 MASTER
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82. Tren D & efivl sufieart s wftsra fen D & 3ufea 8 aren Hi gemn i e ad dasm 9 @ ?
The percentage of candidates qualified from District D over those appeared from District D is
lowest in which year ?

2013
83, ¥ 2011 ¥, forer foreh ¥ Sufedra Sufieamr <t qer H <= Seficart < gfcrra we’ 31k o ?
Rema
In the year 2011, which district had the highest percentage of candidates selected over the
candidates appeared ?
District A

84, writgmef araft & dw e E @ =t sufieant 6 @@ su @ty & <om fen A 8 =@
sufiearl <6t g w1 e febar vl @ 2
The number of candidates selected from District E during the period under review is
approximately what percent of the number of selected candidates from District A during this
period ?

88.54%
85. e ¢ & =afa swfieart w1 vl frem C @ Sxdivt sefigamt it gern # fora o & w=@ atfrs

27
The percentage of candidates selected from District C over those qualified from District C is
highest in the year :

2012

W F. 86 8 90 : ATfeTh1 1 31 i 3R Fr=ferfiaa et & 3w < |
Q. Nos. 86 to 90 : Study the table and answer the following questions.

5 aglAl & U 5 sHufEt grn AR T Ierg) < den
Number of producis sold by 5 companies during 5 months

&+t / Company
wgn/ Month P Q R S T

wAad/January 130 80 | 155 85 75
wal/February | 155 110 | 88 110 90

ard/March 180 | 130 | 115 | 100 | 120
anter/ April 160 | 145 | 240 | 140 | 165
w$/May 140 | 120 | 130 | 100 | 165
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86.

S S G S T IeqTe) shl T 1§ Sl & 31 deh e b ifererd <l gfg g8 ¢
The number of products sold by company S approximately increased by what percent from
January to April ?

64.71%

87.

S T gro A, et S ws 1 o) T Scare) <l et T 7 W, 32% Wiges Wid W & | T, 318
ST W R T g S 7T Ages Wie 3earq) +h et g ferartt off 7
Out of the total number of products sold by company T in March, April and May together,
32% were made of mild steel. What was the total number of mild steel products sold by store
T in March, April and May together ?

144

88.

et 3 ot P, S aft T gRT 3 T Ied) ot sftea v R & 7 (smmtia)
What is the average number of products sold by company P, S and T in February ?
(Approximate)

118

89.

AT § ol P 3R R G i T 3c1G) <ht Shet T oht et H 3761 haf-Ril g sl 71T IedTg) shl el
T B I FhaT R ?
What is the ratio of the total number of products sold by company P and R in March to the

total number of products sold by the same company in April ?
59:80

90.

S Q g Sl 3T WS & TRt =t 1Y Seurgl ot ot T S qHH HEHT H O R g
= 71T IeATR] ST el TEAT o o= T I FehaT 8 ?
What is the difference between the total number of products sold by company Q in January and

May together and the total number of products sold by company R in the same months together ?
85

W.H. 91 8 95 : & e e urs = weh formiw = o S faftrer &t ot fervaferener & @l sl ewiiar @ 1=
ol SR R Tt I 36eh 1<l T 1 ¥l oh Ie q | (Wl vt et 3 fqm e 1)

Q. Nos. 91 to 95 : The pie chart given here shows the spending of university on various sectors
during a particular year. Study the chart carefully and answer the questions given below it. (All the
values are given in degree.)

02
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91. SHTETE W HA G b1 P e wierera @ fopn siman & 7

Approximately what percent of total spending is spent on Hostel ?

12.78%

92. kA Y ot B STEY 9 e fehaer wfawa st @ fRn e ® ¢

Approximately how much percent more is spent on Research than on Events ?

86%

93, afe o % R faftra &t vt @ <t 78 o1 TR 1,80,00,000 B, T SR ET=T W @ 6l
T3 T BTETETE W@ i 78 Ui 9 fepat 31 ® 7

If the total amount spent on various sectors during the year be * 1,80,00,000, then the amount

spent on Infrastructure exceeds on Hostel by :

*2,00,000

94. @al W, fer 6 gern A fra wfawd w9 @ o smar g ¢

How much percent less is spent on Sports than on Education ?

35%
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95.

e o % A Qe v @ Y T per Tl 1.8 Hirg off, A v 3t rEeT W He T 6
afr e :

If the total amount spent on Sports during the year was * 1.8 crores, the amount spent
on Education and Research together was :

Full Marks / 9uf 3ie

7.6, 96 A 100 : Fr=ferRaa omea 7w (@n sm@) 2001 @ 2006 6 3=ty & Sow St Hufar A 3B
T ST STrTa o1 IS LT 2 | TT% b1 ek 8 Ug 37T 941 & I e |

Q. Nos. 96 to 100 : The following line graph gives the percentage profit earned by two companies A
and B during the period 2001 to 2006. Read the graph properly and answer the questions.

TRy el 3§ @ dufat A aun B gro st sl e
Percentage profit earned by two companies A
and B over given years

& 0 60~

g 60 Wﬂ‘
B0 55 30

S ST 4s a3
=20 30

0
2001 2002 2003 2004 2005 2006
@Y / Years —B—A

96.

2005 H & shufEt A 3B 6t TR SHH: 3 : 4 % SATA F off | 2005 H 3Tk S HT FHH: I
w_qar 7
The income of two companies A and B in 2005 were in the ratio of 3 : 4 respectively. What
was the respective ratio of their expenditures in 2005 ?

45 : 68

02
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97.

Ffe 2002 # U B &1 =49 * 200 HUS YT, T 2002 H 31 91 off ?

* 260 HUS

If the expenditure of company B in 2002 was " 200 crores, what was the income in 2002 ?
* 260 crores
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98. f¢ 2001 W et A 3R B o1 o3 |WI o1 30 2001 # S Sufi o o o 342 e o,
2001 § T shufrait <At et wv fopeT o 2

(a9 = 3T - =9)
102 WS

If the expenditures of company A and B in 2001 were equal and the total income of the two
companies in 2001 was * 342 crores, what was the total profit of the two companies together in
2001 ?

(Profit = Income - Expenditure)
102 crores

99. a9 2003 H HUH A I * 200 FHUS UT 3 2003 T HUAT A Y 3 2006 T 35 @ F U
oft | 2006 T ot A Y 3 T o 7

' 464 TS

The expenditure of company A in the year 2003 was * 200 crores and the income of company
A in 2003 was the same as its expenditure in 2006. The income of company A in 2006 was :
* 464 crores

100. 3f& 2005 7 St <hufRit it 3111 o off, T 2005 H hoft A % =7 1 et B 3 =21 & ST T
q 7
If the incomes of two companies were equal in 2005, then what was the ratio of expenditure

of company A to that of company B in 2005 ?
15:17
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